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TNPSC GROUP 1 / Il PRELIMINARY
WEEK TEST 3 OF APRIL, 2023

1. Theyvam thozhaaal kozhunhan thozhudhezhuvaalL

a. thinmaiun daagap perin b. peyyenap peyyum mazhai
c. illaval maanaak kadai d. enaimaatchith thayinumi il

e. Answer not known
OpuieuD OHTOTSET OBTIpHeT GCGHTUHOSHLDeTEIT

a. dHewiewo2_ewi Lol Qupiiesr b, QuUIGWeN QuUUIULD e
C. ®6L6VAI6IT LDTEWITSH BHEML d. eewemiom Fg STulenid Bev
e. alemL OFHfwalsvensv

2. Choose the opt kural for the following meaning
What avails the guard of a prison? The chief guard of a woman is her
chastity
a. Of what avail is watch and ward?
Honour's woman's safest guard
b. Who guards herself, for husband's comfort cares, her household's fame,
In perfect wise with sleepless soul preserves, -give her a woman's name
c. No God adoring, low she bends before her lord;
Then rising, serves: the rain falls instant at her word
d. If woman might of chastity retain,
What choicer treasure doth the world contain

e. Answer not known

eiteupd QumhensCapm @memend GCHiTs

FHellengsds  HTaUeD  MUSHHIS  STHGID ST (LpedM  6T6HT60T  LIUIGHEIT

® GUILTHGID? DIUTHET [HlewM 6T6eID LIGWILITED SHDMIDSH HT6 HTHGWD SBEL|

FmbSSI-

a. Feomaréd@d STibuae GFUIuD waerliT
BHOBBTEHGHID TG  Hen6v

b. sBarsaIs HBOSTEILTHB CUenld HMBFTEB
CamBarsHHs Gamiraleome L6

C. Ozuwieud OFHTPTHIET CBTIPHET OCHTLPOISH(LDEUTET
QuUICWIeTT GQUUIUJLD LDEWLD
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d. Quemienient OUHHEHBS WITa|ET HHBOELIGTEDID
SHlewTenioe 6ol LTl Gupslest
e. alemL OFflwaledensv

Sire greatest boon on son confers,......

... to fill the highest seat’

What is the debt of a father to his son according to this Thirukkural?
a. To amass wealth

b. To make him a bravest person

c. Precedence in the assembly of the learned

d. To give charity

e. Answer not known

‘HhwS DEHEG ABOID BEH’ — T@ID FHBEHGBEND HHMSH EDIGGS
Qb sLaMHS GUIUIL UGG

a. Qumme BaTHz M6UGHFH60

b. affemms o (Heurda@He0

C. aBpauT Fmuuled (WhHH BHHEF OlFUIH6E0

d. srend QFuIH6e0

e. alewL G Nwaledenso

What is the debt of a son to his father according to Thirukkural?

a. To sire, what best requital can by grateful child be done

b. Precedence in the assembly of the learned

c. To amass wealth for his father

d. protecting the father at his older age

e. Answer not known

LDFHET HHNDHHEG YUBMBD 2 _FHal 6D FH(HHGHMENM6D ST HHMWHHE OFUIUD
SLeTd  GNIUUILLIu®Beug)

a. Qeuemert &S OUB  eletied  FHeud OCFIHTCT  etetim  LIBT &b
OClFUIFHED

asBCmIT Famuuled (WhHhHUWlHhEHEF CFUISHED

FHHmHHEG OlFevaud B&iTdhgHe0

. Heitenmenlouiled LTHISTEHFH60

alenL G fluwalsbenev

©Con o

Which among the following gives ecstasy to mother?

a. by giving birth a child b. son to fill the highest seat
c. when her son won in a battle field d. none

e. Answer not known
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SHTUISHG Culeiud SHmHeugl
a. LDBM6N  FEIBOILT(LS

b. wameas FTaIBmeT eTandGaL L QLTSI
C. &6l Sewauuled (PHHUNHBGWD Curg)
d. Gunidsengdled GeauamBBLTS

e. alewL O Mwalevenso

Which is pleasant to ear?
a. flute music b. lute music c. infants' lisping lips

d. learned people s words. e. Answer not known
CFalldg BT 61g?

a. GwGerms b. wrGwreng C. LDIPEMELFGIFTED

d. areiBmrT Gamed e. alewL Oxflwaisvenev

Though every part complete, the body's fitly framed;

What good, when soul of love devoid, lies halt and maimed

a. outward, within b. bone, love c. love friendship
d. love what else e. Answer not known

©OLIGLAVTLD  6TEUGTEIFUIULD UITHENSH

96l valTEHG,
a. UpsaIBlLl, SiesSEmiY b, e, e C. L, HeiTL
d. oeCur, ereiGum e. alewL Gafluieledensv

In what time will X 5,600 amount to X 6,720 at 6% per annum?

a. 3 years b. 3 i years C. 3% years

d.3 % years e. Answer not known

asbpamer opaipseien X 5,600, 6% e ey aissHHe, gEmbsHe 6,720
SLGLD?

a. 3 sy aBEaT b.3 i UGBS c.3 % UGBS

d. 3% B GEN e. alewL Gxfwaisvenev

A certain sum of money amounts to Rs. 10,080 in 5 years at 8%. Find the

principal
a. Rs. 7,000 b. Rs. 7,200 c. Rs. 7,100
d. Rs. 7,300 e. Answer not known

o GEIL Ostewswrteaid 8% el aissHed 5 oewibaeflsd ¢
10,080 SLFMGFH. DIFN6VDH BHTCUOIH.

a. am 7,000 b. @ 7,200 c. ep 7,100

d. . 7,300 e. alewL G fwalsvenev
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10.

11.

12.

13.

14.

Ram deposited I 15, 000 as fixed deposit. If bank gives 4% as simple
interest after 73 days how much total amount he will get?

a.< 16,000 b. X 15,000 c.Z 15,120

d.< 15,100 e. Answer not known

gmb SO (peiten I 15,000-8 MBIhBT Mallydh SMIBDH60 (PHeSH OFUISMBTT.
s aumld 4% sHlaly BTHHHL T3 BILBT BPHJH DEUHEG
SHmLHGD OoTHs OCFTems wirg?

a.< 16,000 b. X 15,000 c.Z 15,120

d.< 15,100 e. alewL G fNwalsvenev

Who is considered as dead even though alive?

a. The one is not loving b. the one who is not knowledgeable
c. Unlettered d. not having children.

e. Answer not known.

o ulit @mbad o ulgms Uewions &hmSLILIBLGUT wimir?

a. 2 _6MensHHe0 S| BeveurHalT b. nflaledeongeuT

C. BHEVLEVTHAU d. wsa Cup BsveurHali

e. alemL OFMwalsvensv

What is the utility of life?

a.love  b.ethics c.children d. charity e. Answer not known
QUTDAIGI LIULIGITS  GUGTEHAUT Snmiald

a. o] b, gmbd c wEs Gup  d. CETeL e. el G fwalsdemev

Which book among Paththuppaattu books is also known as
“Samudhaayappaattu”?

a. Malaipadugadaam b. Kurunjchippaattu

c. Perumpaanaattruppadai d. Porunaraattruppadai

e. Answer not known

“Fupsmwium’ ®” eeiaid GQuWIFTed SSWILGD USSHIIUTL B HITEL 6157

a. LaneULIBSLITID b. @lehdium’ @

C. Ou(BLDUTETTBMILILIGNL d. QuTEBITBBICILIENL

e. allewL  Oxflwalsvensv

Match the following

A. Pattinappaalai 1. Maanagarpaattu

B. Malaipadukadaam 2. Kooththarattruppadai
C. Maduraikkanjchi 3. Vanjinedumpaattu
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15.

16.

17.

CQUT(HSHHISH:

A. ulgeriurenev 1. wrpsTUTL (B

B. emeoLiaLmID 2. &SHHITHBHBILLINL

C. gy ehHd 3. eEhdOBGBHUTL (B
A B C

a. 3 2 1

b. 1 2 3

c. 2 1 3

d 1 3 2

e. alewL  GHflwailsvenen

Which of the following Paththuppaattu books were sung by Kadiyaloor
Uruththirangkannanaar?

a. Mullaippaattu, Pattippaalai

b. Perumpaanaattruppadai, Pattinappaalai

c. Malaipadukadaam, Nedunelvaadai

d. Porunaraattruppadai, Madurakkaanjchi

e. Answer not known

SPEHHEUIL.  6hGH USSIIUTLH  BHI6OHMENT  HIQUIGTT  © (H& T MG 6001600160 IT
LIMIQeoTrTiT?

a. (LpeveneolilmL(h, UL IQUILITEn6V

b. QuURHDLITEITBBIILENL, LI I9&TLILITEN6D

C. LO6M6LLIBSLMD, GHHOHeLEUTENL

d. QUTEHBITBBIILIEDL, LDHIENTHHTehS

e. allewL  Oxflwalsvensv

Which is the smallest book of ten Paththupaatoo?

a. Mullaippaatu b. Madurai Kanji c. Nedunelvaadai
d. Pattinappaalai e. Answer not known

LUSSIIUTL 1960 FpSlul [BIT6D 61&H17?

a. (LpeLemeLLILITL (B b. wsmIs HTEhHS C. OBBHOBeLMTENL
d. ulgeniumTenev e. alewL O fuwealsdensv

Porunaraattruppadi Mudaththaamak Kanniyaar had sung about which of
the following?

1. The victory of Karikaalan in the Vennipparanthalai.

2. The prosperity of Chola land.

3. The abundance of water in Kaveri.

4. Chera land’s agricultural land’s fertility.

a.1, 2 alone b.1, 2, 3 alone c.1, 4 alone

d.1,2 3,4 e. Answer not known
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18.

19.

20.

21.

QUTHBITBBINILEMLUNED (LPLSHHTOSH HEWIIWTT SLPSHBEUIL.  TeDaUSHM6NL LM
LITIQU|6ITEYTITIT.

1. sflemevelear GeusmreniliLpbhHemev GUTT Gloummns

2. Ggmp BTG GUETLD

3. sralfluller BT euerD

4. Gy BTG 6IUIGD 6U6ITLD

a. 1,2 ' Bw b. 1,2, 3 @B c. 1,4 o @Bw

d. 1,23,4 e. alewL Gxfwalsvensv

At which rate of simple interest, will the amount be twice in 20 years?

a. 4% b. 5% c.6.66% d.3.33% e. Answer not known
BmuUBl UBLESTN BHTD CFHBHID CFHTend G DL MISTEITEL Heol 6L lg
AP HD eTeianioUTS B(HHGLWD?

a. 4% b. 5% c.6.66% d.3.33% e. alew. OFHfuwialedensv

The Simple interest on Rs. 68,000 at 16 % % per annum for 9 months is Rs.

a. 8,200 b.8,300 . 8400 d.8,500 e. Answer not known

. 68,000 56 o e’y 16 24 % eisggsd 9 wisnsEmsEs s ol .
o5 BB
a. 8,200 b.8300 ¢. 8400 d.8500 e. alow. GQxfuwaledenso

A sum of Rs. 48,000 was lent out at simple interest and at the end of 2
years and 3 months the total amount was Rs 55, 560. Find the rate of
interest per year.

a. 6% b. 8% c. 7% d.7.5% e. Answer not known

SLOMH PRSI L g0 Rs. 4800063 2 oewihsel 3 10THH
STVSHHBSL  LIBEG SHlaully cpeold  OuBLLLL  Orshsdh OFTens Rs.
55560015 BHHDH aTefled Qg AiHHmBHDH HTEwIH.

a.6% b. 8% c. 7% d.75% e. alewL Gsflweaisdenew

According to 2023-24 union budget the fiscal deficit is estimated to be

per cent of GDP.
a.5.9 b. 6.4 c.6.9 d.7.6 e. Answer not known
202324 wHHW  HHBmev oMidmaulet Uy  BHAHIUBBTSGHMB  CTHS
o GBTL(H 2 BuSHHUTeD FHNHOMS  GHUIIL LI (HeTenGl.
a.5.9 b. 6.4 c.6.9 d.7.6 e. alewL Gxfwalsvensv
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22.

23.

24.

25.

Which among the following is not in the Saptarishi priorities list of union
budget?

1. Infrastructure and investment 2. Unleashing the potential
3. Blue Growth 4. Youth Power

a.1,3 b.2,3 c. 3 only

d. 4 only e. Answer not known

LeteumeueieuBmien  wHHW  HHBlmev omldsmauier  Flsfad  (peaieiflento
UL 1IQuIelled eIl 6157

l. 2 UslLewli BB (WHeSH 2. gpeir Gobun(

3. H6V QUeNTHFS 4. @em6NEehT SMBMEV
a.1,3 b.2,3 c. 3 L B
d.4 w’ @G e. alewL Qg flwalsdenso

The Vibrant Villages Programme focuses on the development of which
villages?

a. Backward villages b. Tribal villages c. Hill Areas

d. Border villages e. Answer not known

adp&FFI0E  FITOmSET  HULD  dHHMBU  UTFFHEG  (PSHBWSHHIeID
QUG SBSI?

a. Uersmduw Aymomiser b, LPBIGIQUIGTT SFmiomhisert

C. eVl HFMBIBHEI d. erevemeLLILIB SITLOBIB6IT

e. alemL OFMwalsvensv

When the full moon is at the closest point (perigee) of its orbit to Earth it
looks bigger and brighter, when we see it farthest point (apogee) from
earth is called

a. Lunar Eclipse b. Blood Moon c. Blue Moon

d. Super Moon e. Answer not known

GueniTewrll Hlevalelr SFB@IOUL L LILTDS LOdHE We DIHHD SHSHGW uTIpgl,
Wsald  Cuflwatsad iHs @6l o mLwsTead  yular wWss
GaTensvalgleen T @ SHelmhHeH uTTea@Gh GuTipgd G fleug

LS LD.

a. ghdy Hysenwid b, ey Mevey C. [F6V [Hlevey

d. Qu@pevey e. alenL O flwialedenso

A weak base has conjugate acid and a weak acid has a

conjugate base.

a. Strong, strong b. Weak, strong c. Strong, weak

d. Weak, weak e. Answer not known

Q(H UMM SHTJLD Benent SIOLHMBUID Q(H UMM  HILOIGVLD

Bement SHTFHMSUID CUBMI(HBGLD.
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26.

27.

28.

29.

8 | Page PH: 044 - 24339436, 42867555, 9840226187

a. GUGIGITE, GUGVIGITEIT b. cueieumm, euevIeTENT

C. QIGVIOGITEN, GUGIAIMM d. eusgvieuBm, euevIeUBB
e. alewL  OFMwealedenev

Which one of the following is a salt of weak acid and weak base?
a. Sodium chloride b. Ammonium chloride  c¢. Sodium acetate

d. Ammonium acetate e. Answer not known

BB euBmIeT o1& aiflwbd Gombhsd Dbleod WBBID iflwd GoBHS ST
o 1?

a. Ggmouib &Genmeny(h b. ouGuwreiwib &Gemmeny(h

c. Gamouib SFILGLL d. ouwBuwreiwn o CLL

e. alewL  OFHflwailevenen

Identify the correct statements from the following

1. As of February 2023, the repo rate of RBI stands at 6.50%

2. Repo rate is the rate at which the RBI lends money to commercial banks

3. Repo rate is increased to control inflation

a. 1 only b.2 and 3 only c. all the above

d. 3 only e. Answer not known

LesTeu(meueToUBMmIel FMUITe FnBBIBN6Tdh &H6mIL_Nld

1. Woyeufl 2023 mMeveuyting, Maey eumduler QruiGur aldsbd 6.50% 60
o 66

2. GpuGur el&lsD eaiugd @hHHul MNFTel eumdl, euelles IRSBHEHHEG HL 6T
QULPHIGLD GISISHLOTGLD

3. uemaibaEHMHH SLBLLGSHS OILCur alalsbd o wisHsIuGEHBS

a. 1 @B b. 2 wBmb 3 1w’ G C. GuBEemiL  DIMETHSHID

d. 3 @G e. alewL Ggflwealsdensv

A sum of money lent out at simple interest amounts to Rs.1020 after 3
years and to Rs.2150 after a further period of 6 years. The sum is...

a. Rs.455 b.Rs.565 «c. Rs.630 d. Rs.555 e. Answer not known
Q0 GOEUILL O0xTedsd Hol el gl uled  alllul L gled, 3
LN BHeMe0 5.1020 supad, Geud 6 SeEIhEHeT HPHH 52150 SLEH|D
o WTHBGH. DbHHH OHTeNDH 6l6lel6Na),?

a. Rs.455 b. Rs.565 c. Rs.630 d. Rs.555 e. alewL Gafluwaisvensv

Arvind borrowed a sum of Rs. 8,000 from Akash at 7%. per annum. Find
the amount to be paid at the end of 2 years at simple interest.

a. Rs. 1,120 b. Rs. 1,210 c. Rs. 9,120

d. Rs. 9,210 e. Answer not known




30.

31.

32.

33.

oalbdh eealT p 8,000 wl oFHTad el OmbH ewibhhE 7 %
ol ly aiHld SLemed CuBBTT. @renih SLewihHeNer (Wgaled DTalbhs
CFavsHs Geuenrgul OLOTHSHSH OCHTENBHENUIS HT6HISb.

a. em. 1,120 b. . 1,210 c. ap 9,120

d. em. 9,210 e. alewL G flweaisvenev

Riya bought I 15,000 from a bank to buy a car at 10% simple interest. If
she paid X 9,000 as interest while clearing the loan, find the time for which
the loan was given.

a. b years b. 3 years c. 7 years

d. 6 years e. Answer not known

fuim  eteieny  wAHH amBiGusBHTE X 15,000 10%sefan iy ey
aIHSHHle0 SLeMaBL  CUBMT. o] I 9,000mé L  (1PRHESID
SmHeuTuled, Ul UITESF  QFVISHHIM  eleled, SLMI  LWETLGSHSHIW
BTVHMHH BN (Hb.

a. 5 oewiBHH6i b. 3 gy emiBser C. 7 SLemi(BaHe

d. 6 syemiBH®ei e. alenL Oxflwaiedemev

The first destination of newly launched Digital India mobile van was
a. New Delhi b. Lucknow c. Bhopal

d. Sri Nagar e. Answer not known

USHSHTE OHTLRISLUL BeiTem 199l L 60 SHHWT  GLOTENL6D  UTHEID  (HHeVIeD
Q&F60aILAL_LD

a. UzloL 606l b. ev&Geit c. Gumumed

d. nfpasi e. alewl GFHMuwialevensv

Which planet has the most number of moons?

a. Jupiter b. Saturn c. Uranus

d. Neptune e. Answer not known

DIFHBLLGF  eTenTenlHenHUTe0Ter HlenentdBHmeiidenend GoTaniBeten ComelT 61g)?
a. ewImpesT b. el c. wGyeurerd

d. QGmrnguyes e. alenL O fuialedenso

Consider the following statements

1. Janus - 1 is the world’s first cloud built demo satellite

2. Itis developed by the chennai based space start-up space kidz
3. Itis launched on the ISRO’s satellite SSLV - D1

Which of the above statements is/are true?

a. 1 only b.1 and 3 only c.1and 2 only
d. All of these e. Answer not known
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34.

35.

36.

LNeiTeu(HLD FnBmIHEn6T SHUIH

1. 2 eudleil  (IpHeL FHema . HLLWLLY OFwevalensds  CFuwBanHHEHTET
Gxetord-1 o@D

2. ®5 Ogagimeamwsd JTibhs alewibeual  BBieuetorer  erOELE&SIL 610-5L60
9 (HEUTSHSBLILILL S

3. B BevCrmaler SSLV-D1 ailewideuld clpeolons aiemienisd OFelsha UL L G

Gumaapiw Fnpumisefed Fflwmarenel ergl/ eleneu?

a. 1 L@ b. 1 wBmib 3 1w G c. 1 wBmid 2 @b

d. Bmear sEwaIsaEId e. alen G fluwaledensy

India’s first hybrid rocket is launched from

a. Pattipulam b. Mahendragiri c. Thumba

d. Kulasekharapatnam  e. Answer not known

OhHwraler (1pHev SHeoliler aMEUTHET JTHOBL GTRIS(HHSHI Jeulilil L G)?
a. ULI1gL|6VLD b. w@apHrA C. Glbur

d. &evBFayliLL IgerD e. alenL Gaflweledenev

Identify the correctly matched pairs from the following

Artificial intelligence Company

1. Chat GPT Microsoft

2. Bard Google

3. LLaMa Apple

a. 1 only b. 3 only c.1and 2 only
d. 2 and 3 only e. Answer not known

Leiteumeuenteummlen sflwns GQuThbHSUleTen Eenewnidemend HewlLNls
CFWIBEND  [HI6TT60TN56)] B BI6U6ILD

1. gm’ Qg oSG Iramii’

2. U Fn(G6IT

3. eumLoT Sidel

a. 1 LB b. 3 wl @G c. 1 wBmub 2 1wl Bib

d. 2 wBmb 3 w G e. alemL QFHfuialedenso

The Indian player who won men’s 10m air rifle event at the ISSF world
cup 2023 is

a. Aishwary Tomar b. Anish Bhanwala

c. Saurabh Chaudhary d. Rudranksh Balasaheb Patil

e. Answer not known

ISSF 2 _svas@atiient 202360 il auhbaTer 10 WBULT giT ewyiier GuTLiguied
Qeuppl QBB RbHw ey,

a. Meroaufl Gmio b. olad ueTeUTeOT

c. gyl QFens d. marmhiag uTeoTFTGami LML 1e6d

e. alemL OFflwalsvensv
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37.

38.

39.

40.
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According to World Meteorological Organisation, the rise in sea level

during 2013 to 2022 is,

a. 4.5 mm b. 0.6 m c.5cm

d.1cm e. Answer not known

® 608 oUTEIMED SMWLITeT L 2013  (PpHed 2022810 HLEWIYBEH6T  HL 6D
DL L LD SDI6T6Y ©_WIMHGHI6TENS)

a. 4.5 1015 b. 0.6 1 c. 5 QF.8

d.1Gg.8 e. alewL Oz flweaisvenev

A certain sum of money amounts to Rs 1008 in 2 years and to Rs 1164 in 3
Y years. Find the sum and the rate of interest.

a. 800, 14% b. 800, 13% c. 800, 12%

d. 800, 19% e. Answer not known

R GHIIILL  OsToswTaid 2 oueibseisd . 1008 osad 3 12
WIBB6M60  h.1164 Ha b LIBRFBH 6ol Db OFHTms BB
Ay IHHMBUID HT6wIH

a. 800, 14% b. 800, 13% c. 800, 12%

d. 800, 19% e. alewL G fNwalsdenev

Find the simple interest on Rs. 7,500 at 8% per annum per 1 year 6 months.
a. Rs. 600 b. Rs. 700 c. Rs. 800

d. Rs. 900 e. Answer not known

7,500 & 8% auly oimpd @M GUHLID 6 IDTHBIBEHEHEHTET  HTaUL IgmUish
BTG

a. Rs. 600 b. Rs. 700 c. Rs. 800

d. Rs. 900 e. alewL G flwaisvensv

A person invests a certain sum at a certain rate of simple interest for 5
years. Had he invested it at 3% higher, he would have earned Rs.510]
more. Calculate the sum he invested.

a. Rs.4300 b. Rs.3400 c. Rs.4500

d. Rs.4800 e. Answer not known

QM BUT @b GEUUILL OOxTmsmw @k @GEIUULL ey aiddhsdHed 5
SEOIHBEHES (PHeVB OCFUISHBTT. QeUT DD 3 FHABHD DIHFHIOTEH (PH6VH

QFUIHHHSTED, DUHHG Ged H.510 SewL GHH(HBGLD. ST (WHeSH
CFUIH OFHTMBMUIDH HeIBHLIIGHHLD.

a. Rs.4300 b. Rs.3400 c. Rs.4500
d. Rs.4800 e. alewL Gxfwalsvensv




41.

42.

43.
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Identify the correct statements from the following

1. India is ranked 136t out of 150 countries in the world happiness index
2023

2. Finland is named the most happiest country

a. 1 only b. 2 only c. both 1 and 2

d. neither 1 nor 2 e. Answer not known

LleieumeueteummIen Fflwmer nBBisemend Hewil s

1. 202384D SiewigelT 2 60& WLHPFHS GHUlIged BHAwT 150 mBTHS660
1366ug L HFHev 2 _eieng)

2. Uaeonbgl o evdledl & WwHpFHwner BILTS Diplaldbaslil (Heeng

a. 1 L@ b. 2 w0 c. 1 wBpd 2

d. ®yewiHLosv6v e. alewL Gaflweledensv

The largest milk producer in the world is

a. India b. New Zealand c. China
d. Brazil e. Answer not known

o eudlal WsLOufw LUTed 2 MUSSHIUWITENTT

a. ®baHwr b. Puwfeonpbal c. ger
d. 9Gydlev e. alewL Oaxflwaisdeney

Consider the following
Assertion (A): Tamil Nadu is ranked first in 2022 with 156 organ|
donations

Reason (R): Tamil Nadu was among first states to make it mandatory for
all government hospitals to declare brain deaths

a. Both A and R are true and R is the correct explanation of A

b. Both A and R are true and R is not the correct explanation of A

c. Both A and R are false

d. A is false but R is true

e. Answer not known

LeiTa(hHeueToUBensB  DLU1SH

By (A): 202281b Sewiged 156 2 L60 2 M SHTEIRIGSEHL T SODHTH
(PHVILSHGH60 ©_6iTeng)

smewid (R): owads  oa  DHHSHIEIDMEIEHTMID  (LHEDET  LOJITSHMD
SNlalliuend S LTWIDTSHESU (IPSGH60 LOTHIeVREISBTe0 HLODBHTHLD 6IIMTEGLD

a. A pppidb R @yewipid M Guwenid R A el Fflwmer ailendasiom@ld

b. A wppib R Gpewihid Ml Gwedb R A alig gflwmer alendsiosben

c. A oBpib R @rewipid Heum

d. A saum opemmed R &l

e. alewL G fwealedsnsn




44.

45.

46.

47.

India’s rank in International Intellectual Property Index 2023 is

a. 47 b.5 c. 136 d. 42 e. Answer not known
2023810 oevtgent  FTauBha oPeystT QFTHBIfleno  GBIUIiged  EbSwITales
@ 1D

a. 47 b.5 c. 136 d. 42 e. alenL  Oxflwaievemnsv

The theme of world wetlands day 2023 is

a. It is time for wetlands restoration

b. Healthy wetlands, healthy people

c. Wetlands for out future

d. Wetlands and water

e. Answer not known

2023810 SHLEWIgeT 2 605 FHILLBHIGD SHendHlen &HHLICLIT(HEIT
Bg FyBlevmiIsmen LU O BLLSmaTer GCBID
[HEVLOTG  FHJBI6VMIGENT, [HEVLOTEN  LDEHEH6IT
TSHTHTELHHMHTH  FHJH60MISH6I

. FJHI60MIG6T LOBMILD BT

alewL O flwaiedensv

o oo o

National Women’s Day is observed to commemorate the birth anniversary
of
a. Annie Besant b. Sarojini Naidu c. Savitribhai Phule

d. Aruna Asaf Ali e. Answer not known
Gxpdlw waalT  Feoid wimHLW  LIBhHSHTEHET  Heneie] Smpid lHoTH
SImIFNESILIGSBHI?

a. SleieNGLIF6IL b. @9l BTW®H c. gmalgfumut yGev
d. omemm gF1 96l e. alewl GFHfuwalevenso

Match the following

A. World Cancer Day 1. February 4

B. World Wetlands Day 2. February 28

C. National Productivity Day 3. February 12

D. National Science Day 4. February 2

A B C D

a. 4 3 1 2
b. 1 2 4 3
C. 1 4 3 2
d 2 1 4 3
e. Answer not known
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48.

49.

50.
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LTeiTau(hHeueTeUBenBL  GILIT(HHHIS

A. 2 ova UBBIGHTUI Herd 1. Myeudl 4

B. 2 eva Faiigyplev Herd 2. geufl 28

C. Gpdw 2 _@musHd Hebd 3. Miyeufl 12

D. Gxdw onfleluisd Herd 4. ayeufl 2
A B C D

a 4 3 1 2
b. 1 2 4 3
c. 1 4 3 2
d 2 1 4 3
e. alewL OEMwalevensv

Find the Simple Interest on Rs. 5,000 at 10% per annum for 5 years
a. 3500 b. 5000 c. 2500

d. 2000 e. Answer not known

9IF0 h. 5,000 H& 10% ey aipshHed 5 UMBHEHHGH Hel il lg
616016017

a. 3500 b. 5000 c. 2500

d. 2000 e. alewl. G fwalsvensv

A sum of 348,000 was lent out at simple interest and at the end of 2 years
and 3 months the total amount was 255,560. Find the rate of interest per
year.

a.5% b. 6% c. 7% d. 8% e. Answer not known

SLOMS GUPRISLILILL 9iIFe0 48000 &@& 2 YewihFHel 3 WWIHS STeLHSHMBSL
NeoT  Heolleul lg  cpeold  GQUBLILL L. QoTdheHd  CFHTend  I55,5600915 SHbHIHSH!
oleneD, QUL QIHHMHH BHTCWISH.

a. 5% b. 6% c. 7% d. 8% e. alewL Oxflwalevemev

In how many years will a sum of Rs. 5,000 amount to Rs. 5,800 at the rate
of 8% per annum?

a. 2 years b. 4 years c. 3 years

d. 5 yars e. Answer not known

¢5.5,000 SaiH,8% el lg aiHHHed 6IHHME DLEIHH6MD, H.5,800 QF LOTHID
a.2 SLWIBHDB6NT b. 4 sewihasel C.3 Sewi(BH6I

d.5 oemiGser e. alewL Gxfwalsvenev
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C

A

B

A

B
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D
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D

D

A

D

C

A

C
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A

A

C

D

A

B

D
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D

D

A

B
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